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Answer1

Factorise X* +3x—10
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Answer 2

(a) (i) Factorise x*—12x+27

(DC ’3>(_x -9 )

(ii) Solve the equation x?—12x+27=0
(DC. —-Z) (Dc -Gt) O
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Answer 3

Factorise y? -2y
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Answer 4

Factorise 3* + 7y + 6 Ro7r Sians Wi B& Smme + <
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Answer5
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Answer 6

Factorise x*—49
T

- -7
Ef_ﬂ (e -7)
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Answer?7

Factorise @;2 -p
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Answer 8

Factorise fully 8a®+ 12a

P (/.XZV&xG\ + (««f\"l >Ca,

N2 +32
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Answer 9

Factorise &2 4e—12 Sienss Dieraanrt
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(b) Hence, or otherwise, simplify fully (x> +4)* — (x* - 2)?
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Answer1l

G-
Solve x?=4(x - 3)? ( ”‘<\
Z\ ERE)
DCQ = &(x"- Goc « q) = @
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Answer 12

Factorise completely (12x — y)> — (4x — 3y)?

KI I - L3)(!‘2-)(- ‘33 a ("—Dﬂ ’33)("")( —3‘3\
s l7"J - QxJ +q‘31)

Expand using foil

2
( l%)g_ _ l?x\j—'z"j +\O“} '—(l()x
w2 =04t
1 -Ié-)(7 + [?xj I'?:_j )
|yt —'}4%43
bt — 168 +T ="
1285 - 84
(z (l@ch-"“f\

Difference of two squares —< % (Ll-'x N \3\(,_!_3‘ 4_._3)
o %(',-\-x-,,\g}(&x%,‘j)
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Answer13

(a) Show that
7 NN

2 4 (e + 1) =%ae— IF+i{a <)
(a )(i/) (ac—1)"+(a+c)

LHS: (@¢ + ¢ + & +1)
—_—
RHS : (ac-1)(ac-1) + (&+o)(a+c)
N~ - ~—
=ad-2ac+1 +d +2ac +¢&

=@c¢ +c”+ a +1)

Therefore LHS = RHS
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Answer 14

Simplify fully (2x + 3)?— (2x — 3)?

Difference of two squares
c17' - \:,z - (a-b)(&"‘b)
(@2x+3)+(2x-3)) ((2x +3) - (2x -3) )

Simplify each term
(4x) (6)=24x
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Answer15

Factorise fully 20x2-5

ZOD-:.Q - S

("

QYSY')C»()C _gy‘

g(‘exlf I)

L, b

(Pae) = |
b

T
2

- b

c (?x. = DCZ;( % |>

1\

D IFFe NG OfF Two SQRUMES

a_z i bl :—(ﬁ_,- 6) (&UL b)

1\

For more information please visit https.//www.exampaperspractice.co.uk


https://www.exampaperspractice.co.uk



